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QUESTION 1

Two routers are physically connected to each other with ISIS configured. No ISIS adjacency can be found on both
routers. Ping works fine on the local and the remote interface addresses on both routers. Review the confguration
information shown below. Which of the following statements best describe the cause of the problem? Select one answer
only. 
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A. The ISIS interface level configured does not match the ISIS level capability supported on the routers 

B. The ISIS authentication check is enabled but there is no authentication type and password configured 

C. ISIS Area addresses are not configured on both routers 
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D. L1 wide Metrics are disabled on the routers 

E. ISIS Circuit id does not match on Node-1 and Node-2 

Correct Answer: C 

 

 

QUESTION 2

Two routers are physically connected to each other over Ethernet port 1/1/1. Review the configuration information
below. What state should the OSPF neighbor be in? 

A. INIT 

B. EXCHANGE 

C. EXSTART 

D. FULL 

E. No OSPF neighbor 

Correct Answer: D 

 

 

QUESTION 3

VPRN 300 is confiugred on Node 3 and Node 4 with LDP as the transport. No VPN routes are exchanged between
Node 3 and Node 4. What is the cause of the problem? 
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A. VRF policy configured on Node 3 does not match with vrf-target configured on Node 4 

B. No SDP defined in the VPRN configuration on both nodes 

C. VRF-target mismatch on Node 3 and Node 4 

D. Route-distinguisher mismatch on Node 3 and Node 4 

E. Encapsulation type mismatch on SAPs on Node 3 and Node 4 

Correct Answer: A 

 

QUESTION 4

VPRN 300 is configured on Node 3 and Node 4 with LDP and MP-BGP. No route can be found in the VPRN 300 routing
table on both Nodes. What is the cause of the problem? 
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A. No static route configured on Node 4 

B. No LDP defined in the VPRN configuration on both nodes 

C. VRF-target does not match on Node 3 and Node 4 

D. Route-distinguisher configuration is missing on Node 3 and Node 4 

E. Encapsulation type on the SAP does not match on Node 3 and Node 4 

Correct Answer: D 

 

QUESTION 5

What are the possible logging destinations supported on the Alcatel 7x50? 

A. Syslog 

B. Session 

C. FTP server 

D. Memory log 

E. Compact flash 

Correct Answer: ABDE 
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